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3-3 (1) BALEAT/ILIY) L

B A AR (maximum-spanning tree problem)
-Nh: #BETS76 = (V,E), EAEEWE - R
- Bl 2V bT—IN = (G,w)DBRAEEAE: —DORE

n=|V|,m=|E|

m & A EEAKR

a
CRBATOR Ty wOBBA ]
_____ >,
O,
w(T;) =15
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BARKEBART7ILIY L (27)2)

B A AR (maximum-spanning tree problem)
-Nh: #BETS76 = (V,E), EAEEWE - R
- Bl 2V bT—IN = (G,w)DBRAEEAE: —DORE

n=|V|,m=|E|
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BARKEBART7ILIY L (27)2)

B A AR (maximum-spanning tree problem)
-Nh: #BETS76 = (V,E), EAEEWE - R
- Bl 2V bT—IN = (G,w)DBRAEEAE: —DORE

n=|V|,m=|E|
B I RTDOEIAREINZELST?

- K, DERRLRIBANE: n? :':‘g

> K, D 2K

5 86 o 0w 0w 06 o 0d
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BASIARTILIY) XL (Kruskal)

B A EIEARRIZE (maximum-spanning tree problem)

- NA: #BEITST6=(V,E), ELEEWE >R

- Bl 2V bT7—IN = (G, w)DBRERAEE AT —DORY
n=|V|,m=|E|

m VI LEISGRATAREER

-EHAEWATYH, BRYEAKRTLHRLLGSELS, .. HhE585
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BASIARTILIY) XL (Kruskal)

m Algorithm 3.8 (Kruskal)
- N EBEITS76=(VE), EAEE w:E >R
- EAhH 2V T=IN = (G, w)DERAEEA
Step 0: Sort E so that w(e) =w(e,) = --- > w(e,,)
Step 1: Seti=1and X=0
Step 20 If G{(X uU{e;}) contains no cycle, then set X = X u {e;}
Step 3: If |X|=n-1, then output G(X), and halt
Step 4: Set i =i+ 1 and return to Step 2

G(X) @ XV DALERELIZCDERD T 57
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RAEEAT7ILOY) XL (Kruskal)

m Kruskal 7/La') X 4

- NA: #EEITST6=(V,E), EHBEHEWE >R
- HAhH ZYNT=IN = (G, w) DERKEIART

n=|V|,m=|E|

0. #EA#RAE

- WEELDRIBIZES (VY —T4>7)
- w(ey) =w(ey) = =wley)

1. #1HAER E

-i=1, X=0

2. FARHIE

- We,MEMTXITEHARIELCRW
= X =XU({e;}

.RTHIE

- X|=n—-1= GX)HEAHLKRT
4, BT

—i=i+1

- Step 2NR %

v h7—7N = (G,w) e EZ

WN3EH?
e; = (a,b) -
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BASIARTILIY) XL (Kruskal)

m Kruskal 7L XA *vb7=IN = G,w) .52
- NA: #EEITST6=(V,E), EHBEHEWE >R af)
- A xYbT=IN = (G, w)DBEREEBAT

n = |V|,m = |E| (O TTPTTTTTTIL L A A LT T, -

.
.....

.
.
.
.
.
..
.

0. nHA#R1E b X
- BEBEHORIEIES| (V=T 427 0
- w(ey) =w(ey) = =wley) y Z

1. #nHAR &

- [ = 1 X = @ > >
= AN3EHN?

2. FARRHI = e, = (a,b) : OK
- e, DBMTXIZEABAELR W e; = (b,c) * 0K

= X :=XU{e} e3 = (a,c) NG

3R THE e
= s es = (a,x) - 0K
- X|=n-1= GX)HALKRT ec = (c,x) * NG

4. B FT e; =(b,y) - 0K
-i=1i4+1
- Step 2NE 5%
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BASIARTILIY) XL (Kruskal)

m 28 (Lemma 3.1): Algorithm 3. 8(Kruskal) &k
RN EIHARRERE = ##<
O i BA

- X ={x, x5, ., %1}
mow(x) Z2wle) = =2w(x, 1)
> H AT (= G(X))
n AREEIRVCHEEBE DT 57
= GOEIFAK
VTIRGORREBARTHSHZLETRT
n "TRERSEARTIIRW YRE
> AT
n X ECHBEROHVRADRANEIHA
m E(T") ={x,, %0, e, Xp_1, o }
- 0 05x,  FT—H=2 k&K
- k<n—-1 (CRE)

2022 HEEEr 7L XL (3-3) BRSIEATILOY AL q



BASIARTILIY) XL (Kruskal)

m 7R (Lemma 3.1): Algorithm 3. 8(Kruskal)id
RN DI K ERE = 7 <
o zEEA (cont.)
X: w(e),w(s), e, wlp—1),w(y), e, w(x,,— 1)
- X ={x, x5, ., %1} W
> tljﬁT(: G(X)) E(T*):w(x,),w(xy), e, w(x_1),w(x"), ...
> RARIBAT
n XYHBROHVRADRANEIHA
| | X e E(T*)
m TU {0 HE—BRREARCEE D
m dx' € E(C)\X

> T ' =(T"+{x.}) —{x'} | &33K
m (X, %, e, X, x' (€ E(TH))IZEAREL
o w(x) >w(x)esid = ,
FLIYR L EXIED = FE =
Tw(lg) =wlx) = wT)=w(T)

e w(Ir) zw(T)
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BASIARTILIY) XL (Kruskal)

m 7R (Lemma 3.1): Algorithm 3. 8(Kruskal)id
RN DI K ERE = 7 <
o zEEA (cont.)
X: w(e),w(s), e, wlp—1),w(y), e, w(x,,— 1)
- X ={x, x5, ., %1} W
> tljﬁT(: G(X)) E(T*):w(x,),w(xy), e, w(x_1),w(x"), ...
> RARIBAT
n XYHBROHVRADRANEIHA
| | X e E(T*)
m TU {0 HE—BRREARCEE D
m dx' € E(C)\X

ST = (T 4 ) — () 1 A
m T'EYXEHBRA OIS VR ANEEA
> T"DERICRTS = k=n
T=T" T

VT = GUORBRASHEA, o

e w(Ir) zw(T)
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B AEEART7ZILIY XL (Kruskal)

m Kruskal 7/La') X 4

- NA: #EEITST6=(V,E), EHBEHEWE >R

- HA XYRT—=IN = (G, w)DTRANEBAT

0. #EA#E1E

- DEELORIBIZES (V—F4>7)

- w(ey) =w(ey) =
1. MHAERE

-i=1, X=0
2. FAEHIE

n=|V|,m=|E|

v h7—7N = (G,w) e EZ

al)

> wiepn) O(mlogm)

0(1)
7 Y3 A D
FEHIEETHEEX O(m) =7 ;\Zliﬂ(na: b)

- e, NDBMTXIEARAECH W e; = (b,c)

= X =XU({e;}

3.4 THIE 0(1) x 0(m) +0(n) = 0(m) + 0(n) & Z ¥2)

- Xl=n—-1= GX)HEALKT e, = (c.%)

- i1=1+1

- Step 2R3 SRNFHEE | 0(mlogm) + 0(?) x 0(m) + 0(n)
2022 EMEEEr 7LD XL (3-3) BALIEATILOY X A

e; = (a,c)

Step 2:FABHIENHEEIL?

- 0K
- 0K
- NG
= 0K
0K
NG
0K
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RAEEAT7ILOY) XL (Kruskal)

A% EMUYSEHABNECEITEHL DR EHEIL?
-le; = (u,v) € Xz X380
- X Tu, v IO HHYEHARIELS

e; = (u,v)

-Dijkstraz® A (disy(u,v) BRH?) = 0(n?)

m O(mlogm) + 0(n?) x O(m) + 0(n) = 0(n?m)
-BFS(DFS) 2% A (u,v IXTHELEEDT?) = O(n+m)

m O(mlogm) + O(n + m) x 0(m) + 0(n) = 0(m?)
-Union-Find%*# A = 0(a)

m O(mlogm) + O(a) X O(m) + 0(n) = O(mlogm)

m Kruskal 7L XLnztEE

- 58 N S
Step 0 (Z5U) A" B2AY a @ TYH—< BERAM, n) DMK (12T E )
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3-3 (2) EHFEEFE nion-find)

B EVIIERREENDHRE S0 RN IKRTKRIRA

A I -
b C Z
{a,b,c}  {x,z} {y}

m FEEBEE findlv)  0k)
-EL0REAR) £ RIS

> LEENRICESICETHN? BEEADES:
-Yes = RKEFAHPFEL

-No = KRERITERS

v O(k) CHEZRTT RE (R BB E % 2B £1T)
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SHREREFZE Gwnion-find)

B EWNIELRESDRE o) BN IATEIR

N
b c Z
(@bc} (xz ) 1 2
m SEEE union(u,v) @ 0(k)
-BEEnEH (RutRvDRETES)
1. findw)findlv) TZENZTNKRES (R) 2EDIF5
2. BERnE—FxhEnFIC
> EHIEZOARDETk  max(ky, ky, +1) or max(k; +1,k,)
BEW n
n RBEIEH > KOGTIHIEKR = RETARKOEHI0(n)
- Kruskal oztEEIZO(mm)IZTY IR HFEY
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SRR B F%E (union-find)

m 5L f-HNDIT L
> KD IxHNL $

- Union k1 X

v BEEODVRVWEESETFIC k,
= RKOEIkIIEH~#0(logn)
> Kruskal ToBEIE¥IZE O0(mlogn)

- WOEH(/—T14>7) O(mlogm)LYtEE /N v

- Find n=|V|,m=|E|
v BETHOBHOLEDES>HROFIC
v ROZTIX0(a)
a @ TvA—<rEEANm 0B (TIEEE)
m Union-Find—EHhiYDTEE
= 0(a)
- Kruskal ToARH =

m A TIEIZOM)
- BB (=T 4> ITEERF /I
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] AN EIMARTILTY X L (Kruskal+UnionF ind)

m Kruskal7/LT") XL O(mlogm) *YRI=IN = (G,w) .52
- Nh: #E&ET5760 = (V,E), EABEEWE - R a( ) -
- HAhH ZYNT=IN = (G, w) DERKEIART

R . n=|V|[,m=|E|
0. #HA#R/E
- AEELHDRBRIBIZES (Y —TFT4>7)
- w(ey) =w(ey) = =wley)
1. ¥EAER &

- =1, X:= S S
2. FAEHE ’ ﬂ?%ﬁ(n?b) : union-find
- e BT X HIBRA A LA N “ 0
= X =XU({e;}
.RRTHE ) @ O
- X|=n—-1= GX)HEAHLKRT b ¢ x y
4, BT O
- i=i+1 ’

- Step 2 B3 Q ERERHNREA (BRI FKRDR)
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] AN EIMARTILTY X L (Kruskal+UnionF ind)

m Kruskal 7/L3 XL 0(mlogm) 2 RI=IN = (G,w) .52
- Nh: #E&ET5760 = (V,E), EABEEWE - R a.
- A xYbT=IN = (G, w)DBEREEBAT

.
.....

.
.
.
.
.
..
.

o
o Sesraeeazsze Ll 0000 s

.. n=vlm=E|
0. #HAHR1E b X
- MEELORIBIZER(V—F14>7) 6
- w(ey) =w(ey) = =wley) y z
1. #HAER =
-i=1 X=0 3
’ WN3eH?
2. FARRHIE ‘ e; = (a,b) : 0K
- e, DB THIEARRAE L7 e, = (b,c) : OK
= X:=XU{€i} e3=(a,c) : NG
3T HIE e = (n2) - OF
=S es = (a,x) - 0K
- X|=n—-1= GX)HEAHLKRT ec = (c,x) : NG
4, BT e; = (b,y) 0K
- i=i+1
- Step 2 B3 Q ERERHNREA (BRI FKRDR)
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RAEHARTILIY X L (Kruskal)

m EIE (Theorem 3.9): Algorithm 3. 8(Kruskal)
RAEIHARBZEZO(mlogm) THEL

mE - VIO LEISRATAREREK
-EHEWATH, BREKRTLRLGSRS. .. HE58H5
V NI N HEHET X B

m Algorithm 3.8 (Kruskal)
- N4 #BETS576 =V, E), ELEEWE >R
-HAhH FYRT=IN = (G,w)DBEREFHA
Step 0: Sort E so that w(e) =w(e,) = - > w(e,,)
Step 1: Seti=1and X=0
Step 2: If G(Xu{e;}) contains no cycle, then set X = X u{e;}
Step 3: If |X|=n—-1, then output G(X), and halt
Step 4: Set i=i+1 and return to Step 2
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3-3 (3) B/heiFAT7ILIT) I L

m /N EEARREIZE (minimum-spanning tree problem)
-Nh: #BETS76 = (V,E), EAEEWE - R
- B 2vRT—=IN = (G,w)DE/NEEAE —DRt

n=|V|,m=|E|
m /P EIEA )
- éiﬁ*quj’(\\zeEE(T) W(Q)Z‘)\“Eailj\ Tl ,/,’/ E

X

&,

w(T;) =15
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B/ ARE LS

vKruskal 7L T X LTO(mlogm) TS
- MEARE TRz EADRIBIZES| (v—50)3IHE 5
n = A () B oKRERE
- B3 M D JRIEAVRR AL
- WEANIEEIERZ

m LEAHOKNEBRTEINETS
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&=/ NEFARTILIT) XL (Kruskal)

m E3E: Algorithm 3. 9(Kruskal) &
/NEINAKREREZ 0(m logm) THEL

m VA SNEISRBA TAREHER
-BWILTH, BREARTLLLGSERS, .. HI65H5
V NI N HEHET X B

m Algorithm 3.9 (Kruskal)
- N4 #BETS576 =V, E), ELEEWE >R
- HA 2YNT—=IN = (G, w)DER/NEBEA
Step 0: Sort E so that w(e) < w(e,) < --- < wl(ey)
Step 1: Seti=1and X=0
Step 2: If G(Xu{e;}) contains no cycle, then set X = X u{e;}
Step 3: If |X|=n—-1, then output G(X), and halt
Step 4: Set i=i+1 and return to Step 2
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2/ (R) & A7ILTY XL (Prim)

m TF2: Algorithm 3. 9p(Prim) i
&/ (R) £ ARBEX0(n?) THEL

m HE5ENLHFEL, BLERBATAREZREKEIES
- B3ERY (323 TR
m ROUBVILERN (FRNDNEEAK)
m U EVIERII(EREEA)
v Dijkstrat 7/ ) XL EAXERKILE C GHMEREAEANERS)

.é‘uﬁ.g
OQ*zE y
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BR/NEIEATILT) XL (Prim)
m Algorithm 3.9p(Prim) |3 &/ N EIBARRE = #E<

m M

- 7LDV LDEAT

- wRANBIART

m TEHBIDHIERAK
- 7L X Lhve, = (a,b) €iFEIR
B TORRDNEESRESX, KEELRERY
m ¢, =(a,b) ¢ E(THURE
m XDRYEYDBEHERT ST D (a,b)-BE LNDle,
B W(ep) = W(eq)

. 1= (1 o))~ fed)
- w(T) <w(T)
m TYDHBEHHIT LY S WBR/NDIFAK
ne, €E(T") m
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2/ (R) & A7ILTY XL (Prim)

m Algorithm 3.9p (Prim : &/£iEK)
- XNAh: BRI S760=(V,E), EAEEWE >R
- HBAhH 2YRT—IN = (G, w)DBR/NEHA
Step 0: Set A(w) =00, p(w) =v (VWWeEV(G)), X=0, Y =V(6)
Step 1: Set s=a
Step 2: Set Y=Y\ {s}
Step 3: If |X|=n—-1, then output G(X), and halt
Step 4: Set A(v) = min{A(v),w(s,v)} for every v €Y.
Set p(wv) =s if the second term is larger
Step 5: Select s such that A(s) = min{A(v)|v € Y},
and set X =X u{(p(s),s)}, and return to Step 2

= min(/l(v),/l(s) + w(s, v))

n SNLEH (Step 4) s
- Dijkstra (B%EE) : 1(v) = min{A(v),A(s) + w(s, v)}
- Prim (&/h23AK) @ A(v) = min{A(v),w(s,v)}

- Prim (&RR2I,AK) © 1(v) = max{A(v),w(s,v)}
m WHAME © A(v) = —oo, Vv € V(G) BIR : SNILERK
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B R8BS ¥ /N B IEOR

m 5 fEER[ERR (shortest-path problem)

- A7 &
\ AlIIEE
> #BETS570=(V,E), EAE¥BwW.E > R' ol
> ¥ema(eV), #Lab(eV)

- B2y br7—=IN = (G, w)DEE(a, ) -BEx—DOFrt

m /N EIEAREIZE (minimum-spanning tree problem)

- XA "
TEE
> BEETST6 = (V,E), EAEEW:E - R — EHIE

- B2V hNT—=IN = (G, w)DR/NEBAE —DORE

m ERBICKYELTOMEITERS
- MR, B LSENHS
- R RIRELEEL LTS, T DA BT S ORE T LW
- HREICRHEMDIGEE, BH G558 L0581 H5
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